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7. i St Far dad A RATF1 7. Ina queue of students Dilip is 10th from the
R 1081 3R TG FT RIH I | 2087 left and Jagdish is 20th from the right. They
21 U8 3T Uy # U WITH 95d dd 8 reciprocally change their place and Jagdish
3R TSI S |/ 233 RITH U 34T 14T %\%&Q comes to 23rd place from the right. How

FaR | ﬁr/a%%«@ﬁ ? /@YQW many students were there in the queue?
\

(a) 33

(a) 33
(b) 44 4 (b) 44 \O+33
o | w7 330D

(d) 41 ‘O & 0 (d) 41
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/i'er& fewe Wiled 9Hy 7W fede 19X 8. While buying Railway ticket, Ram's position
5d VI GX 4TI T8 YT RIH AP 4 is 5th from ticket counter. He changed his
fdaal & WS & VI U 31 GTHT% o position and comes behind 4 persons, then

TP @W the number of perso nt and behind

gl ﬁ'l?ﬁi af gargy ufea | Q‘ﬂ fra= afaa becomes equal. Then\/ ny persons are

—

LGS 4 % e standing in the row? /%_
otk M oL POSETIRE
(b) 21 = (b) 21 - =
() 17 g ¥ b () 17 — -
(d) 23 9. S (d) 23
A S o A




9 i F s FaR Aa@ A 12d ™WH 9. Ina queue of students Jaya is 12th from the

UR OTHT 3R g | 203 WTH WY@ 81 afe left and Rekha is 20th from the right. If they
qg 3T Iy if R 9 dAdl t,zra S change their place reciprocally then Jaya
ad ¥ 229 ®H /%I%R comes to 22nd from the left. How many
fa fa!l'ﬂﬁ =3 = students were there in the queue?

(a) 30 (a) 30

(b) 31 3 % (b) 31

(c) 41 \Q Qo AT

(d) 34 QQ (d) 34







@mﬁwmm HT W G0 ¥ 13. Jis ninth from the left and K is sixteenth

14l 3R K &1 3¢ SR A Hiagar g1 i J
IR K & dl9 g9 asfeal g ot ufda o
agﬁm’faﬁwgmm%? &

s 1 ]
S Y OMEESD

(c) 353112
(d) 3T 81 fbar &1 g&ar

from the right end in a row of girls. What is
the total number of girls in the row if there

are ten girls between J and K? — K
o' e’ DL

(b) 12

(c)350r 12 ——3@ @ gﬁ;ﬁ—

(d) Cannot be determined
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14. Mt iffa & S SR A ABTRIF 158 81 14. In a row, the position of A is 15th from

20 BR A B BT WITH 204l 21 7 a1 &
iﬂawmﬁr?lwﬁiﬁgﬁ

TSI RTE?

@I

]

(a) 41
(b) 39

413127
A VE

S +61+ o

@

the left end. B is 20th from the right end.
There are 6 persons in between them what

is the total number of persons in the row?

ot Sl 9.4

(b) 39
(c) 41 0r 27 | 5,__@,, Q'Jr" @O

(d) None of the above @




15. W8 a0 | 353 WITH UT 3T & 3R Wigd  15. Mohan is sitting 35th from the left end and
i @/ 228 RIF W 21 OfE ufd ﬁ@ Sohan is sitting 22nd from the right end of
fdd &, Aga R 9igT & o9 Faa the row. If there are 54 students in a row.

TfFg a8 82 Find the no. of person sitting between
(a) 0 } Mohan and Sohan.
0 w7 cqoa
(c) 2 (b) 1
dFHEABETE 9 < (c) 2 7z @

’§—7— (d) None of the above
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16. 46 AfFaal ot te Ufeq &, My dfdgr d  16. In a row of 46 persons, Mithun is 22nd
ardt 3R | 2247 © 3R U ufaq & grdt from the left side of the row and Pankaj is
AR | fory= IR U & 19 @rom the right side of the raw. Find the
qHaS B =T F1d B 2 number of persons sitting between Mithun

% ‘ and Pankaj?
(b) 4 aﬁ\ )55 o aq( 4 7
> | ‘

()7 (b) 4

(d)34T15 = ()7 . H@
S 3 (d)3or5 7 Q,




3. fpdtufea &, A X IFA F 143 RIH 23.1n a queue, Mr. X is fourteenth from the
WEIMNMMAHYSITH 17T AR E, front and Mr lx.r. seventeenth from the
wafe e z faE Yol v v & end, while Mr Z is exactly in between Mr X
3t® e # 81 oftu x afg s v & amit and Mr Y. If Mr X is ahead of Mr Y and
g 3R ﬂ% ;| P 48 ofed €, o W= x there are rsons in the queue, how

Gﬁ?!ﬂ'ﬂ'ﬁ@*ﬁaﬁﬁﬁﬁ?ﬂ N\ manypersonsareyMrXand Mr Z?
ups UPSC 2011
: | T\\Q%M
(a) 6 (a) 6 \
(b) 7 (b) 7
(c) 8 S AeF8

(d) 9 (d) 9
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